between a discount of 40% and two successive
discounts of 36% and is:
wag 10000 &t fyr oR <1 TR @ 93 R B
gear 40% 2 3R AT 93l a1 HHarR:36% dem
4% 2| T TE & 93 | b =R &7
a) Nil b) Rs.1440
c) Rs.2500 d) Rs.4000

2. Successive discount of 10% and 30% are
equivalent to a single discount of:

3 IR 90 10% iR 30% e Td 9o &

RN 27
a) 40% b)  35%
c) 38% d 3%

3. A tradesman marks his goods 10% above his
cost price. If he allows his customers 10%
discount on the marked price. How much profit
or loss does he make, if any?

U&H AN 370 9 R 69 9ed 9 10% srfere
3Afpd PRAT & | AT T8 AU USSP Bl 3Afchd R UR
10% @ Bc <1 2, A 39 USR a8 AL fla

ORI AT AT BT OIS BHRIT?
a) 1%gain b) 1%loss
C) 5%gain d) No_ gail Noyloss

4. A trademan marks his goads at/20% above the
cost price. He allows higicustemers a discount
of 8% on marked price. Fihd out his profit
percent.

TEH AR 370 FEE X shd 1ed 3 20% <ifdre
3ifha e & (de ), UTed! Bl 3ifdhd oI W)

8% @ Be Q@I &, A1 SHST oM UfoRrd garsy?
a) 12% “%b) 10.4%
c) 6% d) 20%

5. A diseount of 2%% is given to the customer on

the marked price of an article. A man bought the
article for Rs.39. The marked price of the article
is:

U& UTEd DI Y GAM & 3ifdhd Jed W 2;% Edl

ge 4 Ol § | 98 ured RS.39 ¥ 59 gEA @1
RIS 8, AT 39 A BT 3Afhd it ehx?
a) Rs.42 b) Rs.36.5
c) Rs.40 d) Rs.41.5

6. The printed price of an asticlélis/Rs.900 but the
retailer gets a discount'of 4@% . He sells the
article for RS.900.R etailer’s'gain percent is:
I8 avg @1 3ifdg FeanRS900 2, =g v gar
@ 59 RGA0%, BT acar U BReT B | SR N
e agRipRSO00" w <9 <ar 2, a1 garsy &

TR b Tty TfereTa e gamm?

Q). 40% b) 60%

o) 6.0 4  681%
3 3

7. “Audiscount of 15% on one article is the same
as discount of 20% on a second article. The
costs of the two articles can be:

v g W 15% @1 se (sean), g ax] & 20%

P B (IS3) d IR 7, Al 59 aFI I3l BT HH

Hed S BN?
a) Rs.85Rs.60 b) Rs.60Rs.40
c) Rs.40Rs.20 d) Rs.80Rs.60

8. A shopkeeper marks his goods 20% above cost

price, but allows 30% discount for cash. His
net loss is:
TP GHER 301 99 R B g 4 20% a1

3ifehd AT &, A g 98 e graE w® 30% B
g odl 8, a1 SHS! el s+ uferd @1 87

a) 8% b) 10%
c) 16% d) 20%

9. The marked price of a watch is Rs.1000. A
retailer buys it at Rs.810 after getting two
successive discounts of 10% and another rate

which is illegible. What is the second discount
rate?
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T T &7 Sfhd gea RS.1000 ® | v @ewr ey
¥ 31 ArTa: Be 10% ok g sRuw © # s
@ Rs.810 # 9=rar 2, ar gAY BE R R T |

a) 15% b) 10%

c) 8% d) 6.5%

10.Successive discounts of 10% and 20% are

equivalent to a single discount of:

31 FHANTa: 923 (ge) wmwer 10% ik 20% fora tw
TS B a6 &7

a) 30% b) 15%

c) 28% d) 12%

11.The list price of a clock is Rs.160. A customer

buys it for Rs.122.40 after two successive
discounts. If first discount is 10% , the second
is

TEh TS BT A e (3ifhd 7o) Rs.160 2, va
IEd 59 &l HAFd: ge o v 10% 2, o ax
Rs.122.40 ¥ @diear 2, dr S¥% BE &1 87

a) 10% b) 12%

c) 15% d) 18%

12.A dealer offers a discounts of 10% on the

marked price of an article and still makes a
profit of 20% if its marked price isRS.8007
then the cost price of the article is:

T FUN U a¥g & 3ifdd gea ik 100y HLEe o
% are @1 20% P A FACT 2 L ATNE &1 3ifhd
7ea Rs.8002, a1 axg &1 %y Yo Sl PR °

a) Rs.900 b) Rs.800

c) Rs.700 d) RS:600

13.A fan is listed at R$:1500sand a discount of

20% is offered onithe,list price. What
additional diseount must be offered to the
customer dow.te bring the net price to Rs.1104 ?
T Ui Hea RS.1500 7 @ik sifed 1o w

20%,, @)\ B¢ <1 SRl €, 1 ured @1 Rs.1104 ¥
WA D UoT 5D SIfIRaT B — Al ge & Sl
gl

14.The marked price of an article is Rs.500. It

sold at successive discounts of 20% and 10% .
The selling price of the article (in rupees) is:
st avg @1 sifed g RS.500 2| 39 <1 ARG
e e 20% ik 10% <o 91 SEhe, O 9%
o1 fama qoa a1 87
a) Rs.350 b)
c) Rs.360 d)

Rs.375
Rs.400

15.A trader marked the selling priee of at 10%

article above the cost price. At the time of
selling he allowggertain ‘diseount and suffers a
loss of 1% . He allowed'the discount of:

TP IR IR Dh@ifod 9ed s9d 53 o 4 10%
31 SifhapDdihe ddad G 98 U HRed 8L
<R L7 PI Bl SOt €, O SHP! gT &R RIT 57
a). 11% b) 10%

c) “9% d) 10.5%

16 . Theamarked price of an electric iron Rs.690 .

The shopkeeper allows a discount of 10% and
gains 8% . If no discount is allowed, his gain
percent would be

v faga & &1 sifed e RS.690 21 v gaMer
59 W 10% 8g <7 & 9rc 8% &1 A FAET &
Uﬁ?ﬂfﬁéﬂﬂ@gﬂﬁéﬁaﬁ,aﬁwwuﬁmﬁw
a) 20% b) 24%

c) 25% d) 28%

17.A discount of 14% on the marked price of an

article is allowed and then the article is sold
Rs.387. The marked price of the article is

TP 9 B ifhd Jea R 14% o 8 I & 91 39
g 1 RS.387 ¥ d=r i B, 39 a%g &1 sifda
I FT 8°

a) Rs.450 b)
c) Rs.500 d)

Rs.427
Rs.440

18.A salesman is allowed 5%% commission on the

a) 8% b) 10% total sales make by him plus a bonus of 5 % on
c) 15% d 12%
) ’ ) ’ sales over Rs.10000. If his total earnings were
Rs.1990 his total sales (In.Rs.) was
I
R e e e e S A RS APPSR 1
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v S B Rs.10000 o @ R w 5%%

Hmwéwa%ﬁzﬁwaﬁ—ﬂa%wﬁ

aﬁav‘%ﬁ?rﬁa‘cﬁ%‘lafﬁdwmoww%m%a‘r
IaD! @ ST BN |

a) Rs.30000 b) Rs.32000
c) Rs.34000 d) Rs.35000

19.A housewife saved Rs.2.50 in buying a dress
on sale. If she spent Rs.50 for the dress,

approximately how much percent she saved in

the transaction?
Teh R HEET Al H Th U bl Wied qHY

Rs.2.50 = orft g1 afe S+ S uene & forw
Rs.25 wd fay &1, df 39 R ob-< # I fam

yferera g=r forar?
a) 8% b) 9%
c) 10% d) 11%

20.List price of an article at a show room is
Rs.2000 and it is being sold at successive
discounts of 20% and 10% its net selling
price will be:
T ored H fhl avg @1 sifed 7ew RS.200048
3R g9 1 warTa: g 20% ek 10%@e: @i S
ST &, 319 ST [dhd Hod 1 ¢ |
a) Rs.1900 b) Rs.1700
c) Rs.1440 d) Rs.1400

21.1n order to maintain the priceline‘aitrader
allows a discount of 10% “oh,thé'marked price
of an article. However, hesstillimarks a profit of
17% on the cost priee. Mad he sold the article
at the marked price;Sheawould have earned a
profit percentiof

7d Rel0% &I Be <ar 2, s9d qrasE W, 98 HY
Teagx, L% &1 a1 ord avar 21 afs 36 s

%319%

ST Jou FIRRET & oy, v fasar avg & sifda

successive discounts of 5% and 10% then how
much he would pay?

U& Afdd U@ Al R & ot ghAd ge 15% e &
Trg s9a forv RS.17000 <ar 21 afe S waen

5% der 10% & <1 FHHrTe: 9o Ry @R, a1 S9
fha WUV 3TGT B BII?

a) Rs.17000 b) Rs.17010

c) Rs.17100 d) RS 18900
23.The cost of manufacturingyangharticle was

Rs.900 the trader wantsto gain 25% after

giving a discountef 10%"*The marked price
must be:
TE geg o faEiomie, g RS.900 oft | fagar sifesa
73 10% @Rt e <7 & e A1 25% H1 A
HAT & Y8t e FT BRIT?
a), Rs.1500 b) Rs.1250
c) “Rs:1200 d) Rs.1000

24 A'shopkeeper offers 10% discount on the
marked price of his articles and still makes a
profit of 20% . What is the actual cost of the
article marked Rs.500 for him?
TP GHMER 01 T & 3ifhd e = a1 10%
BT odl g 3R o9 W 94 20% &1 o B 2 |
sifdd gea Rs.500 @& forw S9! ardfdss amTd aan
Brfr?
a) Rs.440 b) Rs.425
c) Rs.400 d) Rs.375

25.The marked price of a watch is Rs.800. A
shopkeeper gives two successive discounts and
sells the watch at Rs.612. If the first discount is
10% the second discount is

e T o7 Sifhd fea RS.800 2| vo g@MER 39
T¢I R T AN B <dT 8| BE o P 918 I8 30

Rs.612 # 9= <ar 21 afe wsel ge 10% & o gl
g T 2|

. a) 8% ) 10%
SN e e A S [ e v 0 12% g 15%
a) 30% ) 3% _
c) 33% d) 35% Solution —
22.A person paid Rs.17000 for a motor car after a 1. (b) 1" Discount (ge) =40%
single discount of 15% . If he is given .
T IIIIIIIIIIIIIIIIIIIIIIIIIEIEIIIIIIIII===—= .|
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Next effect of two successive Discount (&1 swarTd
T o1 W IR Be)

3644 36x4

100
=40-1.44
Percentage Difference (% swc) =40-40+1.44
Difference between Discount (8t & d1= 3icR)
=1.44% of 100000

=% 1 x100000

100 100
=Rs.1440

2. (d) Effect of two successive discount (g1 HarTa

ge o7 R URUT 8e)

~10+30-12x30
100

= 40-3=37%

3. (b) Let C.P. of goods (11 f&5 a%g &1 %3 Hou)

=Rs.100
M.P of goods (a%q @1 aifdd 7e)
~110% of 100 = 220 100
100
After Discount S.P of goods (ge
fasma 7eg) =90% of =110

_ 90 110-Rs.99

100 *
Loss (&f)=100—99 = Rs.1
Loss (&11) % =—><100 1% %

Alternate
Loss (g11) % = XY o
100,

Loss (1) % =

ods (@1 fb 9% &1 HI )

Rs.
M., (@xg @1 fama 1em) =120% of 100
(M. ) = (L00+ 20)% of (C.P %y He)
= 120 x100 = Rs.120

100

After Discount S.P of goods (8c & 918 a%q &1
fasa q=) = 92% of 120

% 540 3
0 C.P of Article (azq @1 71 =)
= Rs.60

_ 92 120=Rs.110.4
100

Profit (em)=110.4-100 = Rs.10.4

Profit (@m™) % = 104 x100 =10.4%
100

5. (c) Discount ()
— 2504 — 2.5 _ 1— Discount
100 40 —->M

M.P @ifrd o) = Rs.40
Discount (ge)= Rs.1 0
C.Pp =40-1=Rs!
39 — 39 (Actua I )
40— 40
6. (c) C.P (g o) =60% of 900
!60 *
le (@¥g @1 fasa g=1) =Rs.900

am) =900-540=Rs.360

0 )%—@xlOO—ZOOO/ 662/

=60% of 100

S.P of Article (e @1 fasa 7e9) =Rs.100
Profit (cr4) % = 40 x100% = 200 — %= 66g
60 3 3

7. (d) Letthe C.P of I®and 11™ article (= f

EESIIGEIRCURECES i e I )|
=Rs.X&Rs.y

According to question (IFTIER),
15% of X =20% f y

E X—E 100y
100 100
x_20_4
y 15 3

By option only d is 4:3sequence is RS-80and
wd) e 4734 suRerd )
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If (None of these) is given in option then it will be

the correct option. (@t fawer # g9 ¥ ®Ig T2
fear ar € a1 98 99 fadey ®)

i 8. (c) Letthe C.P (®rT f& avq &1 % He)
i =Rs.100
M.P of (a%g @ 3sifda ge) =120% of 100
=Rs.120
S.P after discount (8¢ & @18 faswa gz1) = 70% of
120 =Rs.84
Loss (1) =100—84 = Rs.16
Loss (81M) 9% = 16 %100 =16%
100
e
100
20x30
100
=-10-6=-16%

=Xty

% =20-30-

C.P of watch (51 &1 %3 qed) = Rs.81

Difference (3iax)=900-810=Rs.9
11™ Discount % (% we @I % %100

=10%
10.(c) Equivalent to a sing

ce of a clock (v =<t @1 sifrd Fe)
=Rs.
After | Discount (Tl BT & a1])

90

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
!
1
g 9. (b) M.P of watch (&<t @7 sifea 7o) = Rs.1000
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
! =160x——=Rs.144
: 100

; C.P of a clock (a/<1 &1 %a 4ed) = Rs.122.40

Difference (3iav)=144-122.40 = Rs.21.60

11" discount (g4 ©e)= 21'20 x100
2160

=——=15%
144

12.(d) M.P of an article @® a%g @1
=Rs.800

After Discount (&g @& 9rg)=9 /Q
90

=——x800=Rs.720
100

Profit (@)= 20%

C.P of an articl
720x100

120

13.4a) 0 = Rs.1500
Af unt L.P
i 7e9) =80% of 1500

1500 = Rs.1200

ERI )

et price of fan (7@ & arafas qeu) =1104

% Difference (sf) = 1200—~1104 = Rs.96
96

After 1* discount (Tge BT & dr<) =90% of1
= 99,1000 = Rs.900
100

x100

Additional discount (sifaRed ge) =
1200

i. =8%
14.(c) M.P of an article (a¥g @ siferd 7e)
= Rs.500

After Discount S.P of the article (8 & @18 a%] &1
faspar 7o)

80 90
= X

100 100
= Rs.360

Difference (3ia3)=105.30-100=5.3%

15.(b) Let the C.P of an Article = Rs.100
M.P of An Article (a% @1 aifdd )
=Rs.110(10% above)

S.P of an Article (a¥%g &1 fasa 7e8) = Rs.99
(10% discount &g)
Difference (@ier)=110—-99=Rs.11
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Discount (gc) % = £><100 =10%
110

Alternate:

C.P gain M.P. SP

100 10% 110 99
10%
Discount

Discount (gg)

_110-99 100—10%
110

16. a) M.P of an electric Iron (<ol & amara @t
sifhd Hea) = Rs.690
After Discount S.P (8¢ & a1e faswa 7ea) 90% of
690 = Rs.621
Gain (@m™) =8%
C.P of an electric Iron ([STell & 3maTd &1 %I )
_ 621x100
100+8
~ 621x100
108 ./
=Rs.575
No Discount, gain of lron (fS=r fa=it
@) =690-575

=Rs.115
Gain (c™) % = &xloo
575
=20%
Alternate:
C.P gain .
100 -10% 120

Gain () x100% = 20%

Article (g% ®1 fasa geu) = Rs.387
_ 387x100

M. icle (g @1 3ifdd o) 36

= Rs.450

18.(c) Let the total sale (=T f&5 gt fasl) = Rs.x

}h 21.(a) C.P Sp

According to question (FTIER),

10000% 222 4 (x~10000) x — 1990
100 100

550+ S X —600 =1990
100

i X = 2040
100

X = Rs.34000

19.(b) House wife spend Ggess and save

Rs.2.50 (T® .25 g BB,
Jem Rs.2.50
Total Transactiomp=

.00=Rs.27.50

= % % = 9%(approx)

20@ 0

an
Q%X

unt S.P. (8g & a18 fama g=)
80 90

M.P
100 117 450, 100
90(10><9)
(100x10)  (13x10x9)  (13x100)
1000 1170 1300

.. L.C.M of 117 and 90
Profit =1300-1000 = Rs.300

Profit % = 300 x100 =30%
1000

22.(c) C.P of motor car (HIexdR &I 53 Hov)
=Rs.17000

M.P of motor car (HIeR&R &1 3ifdhd Hea)
- Rs.17000x 20
85
= Rs.20000
After successive Discount C.P (& &2l &1 915 %3
)
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—20000x 22« 2 _ ps.17100
100 100
_216x 290 _ ks 240
90
23.(b) C.P S.P M.P
100 25% 125566,
10% ps.s) 100
(100x18)  (25x5x18) (25%100)
1800 2250 2500
1800 — 900
2500 s 2002500 _ o 1950
Alternate:

C.P of article (a%g @1 %g ge) = Rs.900
S.P of article (@¥q @1 fassa 7o) 125% of 900

M.P of article (a%g @1 3ifd ge) >
_1125x 290 _ 1050 \
90
24.(d) C.P S.P .
10 20%
10% 9 10
90 108
120 — 500

_ 0 500=450
100

= 450x@ = Rs.375
120

= %XQOO =1125 E

25.(d) M.P of watch (&<t @7 sifsa 7)) = Rs.800
After Ist Discount price (Ugell 8¢ & 918 )
=90% of 800

=Rs.720
S.P of watch (&I &1 fasa 7e1) =

“nd

Discount % X
720-61 0

720

1

ol
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